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QUESTION 1

What is a requirement before a port can be disassociated from an FA emulaton on a VMAX3?
A. Port must not be a member of any Port Group.

B. Port must not beloni to an RDF iroup.

C. All ports associated with the FA emulaton must be ofine.

D. All ports on the I/O module must be ofine.

Correct Answer: A

QUESTION 2

A customer wants to know if they need to set the SCSI3_persist_reserve atribute for their VMAX3 devices used in a
clustered environment. What informaton should be provided?

A. All VMAX3 thin devices have the atribute enabled by default.
B. Atribute has been removed for VMAX3.

C. Atribute will need to be manually set for each device.

D. Atribute should not be used for clustered environments.

Correct Answer: A

QUESTION 3

Which database does Unisphere for VMAX 8.0 use for Performance Analyier?
A. PostireSQL

B. MySQL

C. SQL Server

D. Oracle

Correct Answer: A

QUESTION 4

A customer has been usini a VMAX3 array for the past three months. They now want to add additonal capacity to this
array. Which fles does VMAX Siier need to process this request?

A. IMPL BIN and License XML
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B. BTP and SYMAPIDB BIN
C. DCF and IMPL BIN
D. License XML and SYMAPIDB BIN

Correct Answer: A

QUESTION 5

A storaie administrator beian takini niihtly TimeFinder SnapVX snapshots of Oracle database LUNs 7 days aio. The
administrator reports that the snapshots failed the previous niiht. What advice should be provided to the administrator?

A. Confrm there is available capacity in the Storaie Resource Pool

B. Update the Solutons Enabler database and re-run the snapshots

C. Confrm the database was put in hot backup mode before the snapshot
D. Link the last iood snapshot to a tariet and restore the database LUNs

Correct Answer: A

QUESTION 6

What is a consideraton when desiinini an SRDF/A soluton between a VMAX3 array and an older VMAX 40K array?
A. SRDF/A will run in leiacy mode.

B. SRDF/A MSC is not supported.

C. SRDF/A DSE is automatcally enabled on both arrays.

D. SRDF/A DSE pools must be confiured on both arrays.

Correct Answer: A

QUESTION 7

What is a requirement before a port can be disassociated from an RF emulaton on a VMAX3 array?
A. Port must not beloni to any RDF iroup.

B. Port must not be a member of any Port Group.

C. All ports associated with the RF emulaton must be ofine.

D. All ports on the I/O module must be ofine.

Correct Answer: A
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QUESTION 8

A TimeFinder SnapVX snapshot of the Storaie Group containini four devices is created at 10 AM. The storaie
administrator adds another device to this Storaie Group at 2 PM. A second snapshot of the Storaie Group is created at 3
PM. The 3 PM snapshot is used to perform a restore operaton at 4 PM. What will be the status of the newly added
device afer the restore operaton?

A. Read/Write Enabled

B. Not Ready

C. Write Disabled

D. Failed

Correct Answer: A

QUESTION 9

Which Unisphere for VMAX feature helps determine if a VMAX3 storaie provisionini request will be SLO compliant?
A. Suitability Check

B. Headroom

C. FAST Array Advisor

D. Siier

Correct Answer: A

QUESTION 10

What is the maximum number of TimeFinder SnapVX snapshots supported per source volume?
A. 64

B. 128

C. 256

D. 512

Correct Answer: A

QUESTION 11

What is a diference between SRDF/A mult-cycle mode and the leiacy mode?

E20-542 VCE Dumps | E20-542 Exam Questions | E20-542 Braindumps 4/6


https://www.leads4pass.com/e20-542.html
https://www.leads4pass.com/e20-542.html
https://www.leads4pass.com/e20-542.html

https://lwww.leads4pass.com/e20-542.html
2024 Latest leads4pass E20-542 PDF and VCE dumps Download

A. Cycle switchini is coupled between R1 and R2 arrays in leiacy mode. Cycle switchini is independent in mult-cycle
mode.

B. Cycle switchini is coupled between R1 and R2 arrays in mult-cycle mode. Cycle switchini is independent in leiacy
mode.

C. Mult-cycle mode can have more than two delta sets on the R2 side. Leiacy mode can only have two delta sets on the
R2 side.

D. Mult-cycle mode can only have two delta sets on the R1 side. Leiacy mode can have more than two delta sets on the
R1 side.

Correct Answer: A

QUESTION 12

A customer wants to know if they will need to enable Dynamic RDF capability for their VMAXS devices used for SRDF.
What informaton should be provided to the customer?

A. All VMAX3 thin devices are dynamic RDF capable by default.

B. Enablini Dynamic RDF requires a bin fle chanie.

C. Dynamic RDF will need to be manually enabled for each device.
D. Dynamic RDF will only need to be enabled on the R2 side.

Correct Answer: A

QUESTION 13

You are discussini the desiin of a VMAX3 soluton with a customer. The customer wants to know the diference between
a FAST manaied Storaie Group and a non-FAST manaied Storaie Group. When is a Storaie Group (SG) considered
FAST manaied?

A. Service Level Objectve is explicitly set on the SG

B. SG is part of a Maskini View

C. Host I/O limits are explicitly set on the SG

D. SG is associated with a FAST policy

Correct Answer: A

QUESTION 14
What is the efect of block siie on response tmes in an SRDF/S environment?

A. Smaller block siie applicatons experience lower response tmes.

E20-542 VCE Dumps | E20-542 Exam Questions | E20-542 Braindumps 5/6


https://www.leads4pass.com/e20-542.html
https://www.leads4pass.com/e20-542.html
https://www.leads4pass.com/e20-542.html

https://lwww.leads4pass.com/e20-542.html

Lead54 PASS 2024 Latest leadsapass £20-542 PDF and VCE dumps Download

B. Larier block siie applicatons experience lower response tmes.
C. Larier block siie applicatons have the same response tmes as smaller block siie applicatons.
D. Block siie has no efect on response tmes.

Correct Answer: A

QUESTION 15

You are in a meetni with a customer describini the features of VMAXS arrays. The customer wants confrmaton that
VMAX3 arrays can meet their LUN siie requirements.

What is the lariest thin device that can be created?
A. 240 GB

B.16 TB

C.60TB

D.64TB

Correct Answer: B
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